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1: abs(x) 2: exp(x)
3: clc 4: csc(x)
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sin(x)+tan(x)
2+3*sin(x)

Jie) f=(sin(x)+tan(x))/ (2+3*sin(x)) = f=

g= x"(2/2)"(3/3) + x~(1/2)*(3/3) + x"2/2"3/3 + x"3/2/2/3

h=sin(cos (x))+cos (sin(x))/sin(x)+cos (x) " (x)+sin(x)/sin(x/sin (x))
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Juw lim,,(x +sin(x)) = limit ("x+sin(x)',x,2)
1. 2.
2 3dy 2 3
Z(sin(k) + |k]) (dtz) + d_+ y = sin(t) +
y(0) =1

7(0) = 2
. y(0) y
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A : (1.5 points) B : (1.5 points)

clc

A=ones (5) ;

for i=1:5
for j=1:5

A(j—rj):A(j—rj)+2*j+j—;

end

end

A
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C: (2 points)

n=o;

A=1;

B=A*2;

C=B-A;

i=1;

while (i<=n)
disp (A)
A=B+C;
C=B*2-3;
B=A+1;
i=i4+1;

end

E : (2 points)

clc
a=3;
for k=a:10
if (k==3 |
b=k+2;
disp (b)
elseif (k<=6 & k>3)
c=k*2;
disp(c)
elseif (k==11 |
d=k;
disp (d)
elseif (k>9)
disp (a)
disp('Hi Matlab')

k<3)

end
end
disp('end")

D : (2 points)

clc
clear all
close all

i=1;

while (1i<=20)
i=abs (i)+1*2;
A=C+1i+b;
disp (A)

end

F : (+ points)

clc
clear all
close all

textl="ARCDEFGHIJKLM';
text2="NOPQRSTUVWXYZ';
text3 (1) =text2 (end-1);
text3 (2 textl(l)

text3(
text3(
text3(
text3(

=textl (sgrt (2*8) *3);
=textl (end-sgrt (5*2-1) -
disp(text3)
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